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1T.X HPE ¢ 100 Ef(XER)

s X K O K

E Hirk B
[&E#]
ELAE b
EF% 0B ¢ 100 12+ 3 15 | K
¢ 100
EFFf %~ K 45° 4 4 1@
¢ 100
EFF 3~ 221/2° 1 1 2(E
EFY /b $ 100 2 2 1
EFyy 7 ¢ 100 2 2 1
+T1-1 +T2-1 +T3-1
EHRY—b 31.5 4+ 39.0 + 2.8 73.3 m
~—H—Ht 5 5 &




1 TX HPE ¢ 100 8RR

5 W 1k W RO R X BOR |
[55%]
RV F L EART $ 100 73.5 73.5 m
AT L EG T ¢ 100 4 4 u]
WY L A T $ 100 4 4 5]
EE Fg)  rmasok pmaeck Yok Fyus
R EREA T T ¢ 100 12 + 3 + 4 + 1 + 4 + 2 26 &7
IR —L 73.3 73.3 m




1TX

HPE ¢ 100mm
HPE ¢ 100 HPE ¢ 100 HPE ¢ 100 PEATL A | Y7 b= EFF=Z~XUR EF EF A it
R AT | 00 P onoo) 907 | 457 | 220 | 110 | 7TV Ry T 20 (#&h
EE  (m) (n) TFE | HRD /2 1/4  HE
€N s100<075 | 100 | ¢ 100| ¢ 100 ¢ 100 | ¢ 100| ¢ 100 | ¢ 100 ¢ 100
1=5.0m (fiED) (fiED) (fiED) (fEED) (fiED) (fiED) (fiED) (fiED) (flED)
2 1 1
1
7 4.50 1
1
1 3.70 1
2 1.80 1.10 1
2
il 12.0 | 10.00 1.10 4 1 2 2
TR 5 0.79 0.86 0.61 0.49 0.39 0.4 0.32 friak L
JER 60 10/ 1.10 1.96 0.39 L= 73.45




2T[X HPE ¢ 100 B (AZ)

s X K O K

4 B bsikig B & wr
[##4]
X by
EF% O fTEE ¢ 100 118 + 8 126 i
¢ 100
EFH 3%~ R 45° 4 4 2E
¢ 100
EFH 5%~ 221/2° 4 4 2E]
¢ 100
EFfisz R 45° 5 5 e
¢ 100
EFfisz R 221/2° 3 3 e
EF7 I3 ¢ 100 1 1 &
EFY v b ¢ 100 5 5 2E
EF+vy ¢ 100 1 1 e
H=600
EF 2SR ¢ 100 2 2 1
H=300
¢ 100 2 2 e
DIPE
NN ¢ 300X ¢ 100 1 1 e
ySyi)
VI — )R ¢ 100 2 2 &
PR IR
)R E JWWA B 132 1 + 2 3 FH
YT IR
) PR25 (K) 2 + 4 6 1]
pEE Rk
) RA25 (A) 1+ 2 3 1
TR RS
) RC25(C) 1+ 2 3 18
JECAR ENLVN
)i RS25(S) 1+ 2 3 HH
HPE¥v>~ ¢ 100 2 2 &
+T1-1 +T1-2 +T1-3 +T1-4 +T1-5 1+T1-6
BRY—b 559.5 + 2.2 4+ 2.0 + 72.3 + 4.6 + 4.2 644.8 | m
~—H—H 19 19 2E




A} =]
2T X HPE ¢ 100 FHH(AR)
& T 1k "% B R U R A B
[5%]
R kR ROk
RYTF LG Hia% T ¢ 100 641.81 - 1.72 - 0.79 - 0.40 639.3 | m
RY=F L GG T ¢ 100 17 17 ml
ERRE T
AWK g T $ 300X ¢ 100 1 1 T
ERRE T
fLEFpa%E T ¢ 100 2 2 AT
=X ) HEZASUR imez 2ok WEASNUR w2k Aok EF7522 SR
FlAE B Ak L ¢ 100 118 + 8 + 4 + 4 + 10 + 6 + 10 + 1 + 4 165 | f@#pr
INESAVZ o HPE 47
A =HARFE T ¢ 100 2 2 u]
TIUVEE
77 W T ¢ 100 1 1 m]
IR —MT 644.8 644.8 | m
INJES A% 2 HPEF >~
AH=HNAARTFERALT 6100 2 2 m]
JE) BEER)
J i< BESIAF 4 3.90 X 4.20 16.38 | ke
HPE &) EER)
FRAIF > Ty ¢ 100 2 % 9.10
PGkt (BE) (3B EER)
$50X ¢ 25 3 % 10.10 &5t | 4850 | ke




21X

E}i%%olggggﬁ HPE ¢ 100 PEFFL A V7 ho— EFR=%~UR EF A~ |EFF %% EFMj= <K EF [ HPE | EF EF | fiZRiEE
RSEA| ROV 0 Bk worco 907 457 | 22° 117 | TTUVISANURN SAUR 907 467 22° | 117 7T e v Vb ko7 (BED
EE  (m | (m) TFE | Ak 1/2 | 1/4 | EHE | $100 ¢ 100 1/2 | 1/4 DCIPJi]
() 0100075 100| ¢ 100 | ¢ 100| ¢ 100 | ¢ 100| ¢ 100 |(600H)|(300H) ¢ 100| ¢ 100 ¢ 100| ¢ 100 | ¢ 100| ez0x10 100 ¢ 100| ¢ 100
1=5.0m (1) (1) (1) (fE) (1) (fE) (1) (1) (fE) (1) () (1) &) | &) | (@) | (E) | E) | (@)
1 0.90 1 1 1
33 4.00 1
0.90 1
2.00 1
0.90 1
9 0.70 1 2
1.00 1
7 4.40 1.00 1 1 1 1
23 4.60 1
8 0.70 1
7 2.50 1 1
5 1.90 1 1
6 1.20
7 1.50 1 1
1 2.40 1
5 1.40 1 1
6 4.70 1 1 1
1.30 2 1 1
5 118.0 | 25.80 12.20 1 2 4 4 2 2 5 3 1 1 2 5 1
wE 5 0.79  0.86] 0.61  0.49  0.39 0.4 032 133 0.9 05  0.38  0.28 028 0.18] 0.4 ML
L 590  25.8 12.20 0.79  1.72 1.96  1.56 2.66 1.8 1.9 0.84 0.18) 04 L= 641.81




2T X #EZ:E 100A(SUS304) ¥

S - TR

B0 Hirg M I e OVERL 2
[&#71]
ATV AAIRL O A 100A X 10001 X 45" X 63L BRI AR L 2 KN
ATV AGNE 2EAE T 100A/200A X 2118L X 45° X 500L R AR L 2 ES
ATUVAME 2EE T 100A/200A X 80A X 46001 X 210H EN
RFUL GG 2 g 100A/200A X 21691 X 45" X 500L R R L2 TR KN
AT UVAABEL A 100A X 10001 X 45°X 631 R AR L 2 1 EN
AT UV A EE N — 200A X 200L 2 HH
2RI RHEHEZEKTR ¢ 25mm 1 %
AFULA BATR AR %ggf,gﬁ R |
FCD fififi 7T =5 Lo IO S0 2 K%
CXIEAEA BV ¢ 100 2 A
PCVaA b ¢ 100 2 i
[57%]
ST () oA S
SR AT % T GHEER) 100A 1 =
ATV AR L Eg'g;% o 4 | AT
VR HE R TR T 100A 4 | &7
PELA S T 200A X 4.0t 2| T
ZER I iE L R HRZE KT ¢ 25mm 1 %
Lo BET 200A ] 2 | fEFT
TG AR R T 200A 2 fERT
Xt As T 1 =X
5T 1 =
FYVFV A AT = VT T $ 100 2 5]
AH=HNARTFT ¢ 100 2 =]




2T[X PP¢50 &, FHHEUARER)

s X K O K

4 B bsikig B & wr
[##4]
RYZF L& ¢ 50 71.1 71.1 m
PP /LR $ 50 6 %X 3 18 &
EFE Y V5 K4ER | ¢ 100X ¢ 50 2 X 3 6 1
PPE Y V37K | ¢ 50X ¢25 I x 3 3 1
PPoy /KKy 7 ¢ 50 2 %X 3 6 1
PRIE T ¢ 50 71.1 - 24.6 46.5 m
[5%]
RYxF L% Hia% T ¢ 50 71.1 71.1 m
TR Grikkie
PPiEFT. ¢ 50 36 + 6 42 5]
EFE H
KK T ¢ 100X ¢ 50 6 6 & T
PP
S KRR T 650X ¢ 25 3 3 T
RV ZF LU E R ET ¢ 50 71.1 71.1 m
FE) EHER)
LGy BESIAF A 71.10 X 1.22 86.46 | ke
PP/l A FE) EER)
AT $ 50 18.0 X 3.17 57.06 | ke
FRAKEE R (BEER)
AT T » 50X ¢ 25 3.0 X% 2.40 7.20 kg




3T X HPE ¢ 100 &H(AZ)

& T 1k %R R TR A B
[&#1]
[ G
EF% O fTEE ¢ 100 + B
EFY %k ¢ 100 1 1 &
BRI —b 2.0 2.0 m
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3T.X HPE ¢ 100 E(AR)

&

piikicy

W B K O B S

¥rom | wr
[5%]
RVZF LU E AR T ¢ 100 2.00 2.0 m
RY=F L GG T ¢ 100 2 2 ml
BERRAY = F LA T ¢ 100 2 2 u]
A WO vk

FlAE B Ak L ¢ 100 + + 2 2 T

IR —M L 2.0 2.0 m
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4!

3T

HPE 6 100mm
HPE ¢ 100| HPE ¢ 100 | HPE ¢ 100 PEFRLOA | V7 he— EFF = ~XUR EF EF Fiir R
Pt B 2o FEEE o v | 90° | 45° | 22° 11° 7509 S ok (B3h)
EE | m | @ T Ak /2 | 1/4 | wEE
(£) o00x67 | 100 | ¢ 100 ¢ 100 ¢ 100 ¢ 100 ¢ 100 ¢ 100 ¢ 100
1=5.0m Q) G A R 1 M ¢ ) RN ) IO ) IR ()} ()
1.00 1.00 1
i 1.00 1.00 1
EE 5 0.79 0.86 0.61 0.49 0.39 0.4 0.32 it
JLF 1 1.00 L= 2.00




3TIX FEZES 100A(SUS304) &k« 95 %R

LR Kk W 15 e VLR B B
[&45]
AT UVAANRLH ihE 100A X 10001 X 57.8° X 841 IR R L& e 1 A
ATUVARE 2EE M 100A/200A X 1600L X 45° X 1792L, IR ARV & e 1 A
AT VAR 2EE EAE 100A/200A X 31581 1 ¥N
AT UVAT T Y QB T 100A/200A X 80A X 4300L X 210H 1 i
ATUVARE 2EE M 100A/200A X 3100L X 45° X 1742L R AR L& s 1 ZN
AT UVAAIFELN B 100A X 1000L X 45° X 63L R AR L& e 1 A
AT ULA RN N — 200A X 2001 2 &
s oo, B
oS A7 /3 — 100A X 200A 1 &
RES T R BHE2EKI ¢ 25mm 1 *%
SUS304 S A 2008 . PN 6 HH
UV 7T h—&te

SUS304 A TEA LA ?T??ﬁﬁg@ 2 i
FCD {5 i 00w 2 | K
GXEEE Y ¢ 100 2 i)
PCVaA b ¢ 100 2 1
FRT —b 1.1+1.3+1.3+1.1 4.8 m

[55%]
SR (RZE) o S
PR A % L (HLEER) 100A 1 =
KPR T, Wk 6 | i
TRHER TR L 100A 6 i
PRI A S —3RE L 200A X 4.0t 2 f&AT
A — X R E T 100A 1 00
I 0 N — 3¢ T 100A/200A 1 T
2RI E L R EHEZEKIF ¢ 25mm 1 &
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3TIX FEZES 100A(SUS304) &k« 95 %R

B2 Hiks W B K OV o | HAL
SR HEE T 200AH 6 T
AT AR A T 200A 2 &
Xl T 100A 1 X
{HRAE AT &5 R T ¢ 100 U(GX)-S(K) 2 £
GXJEAEF T ¢ 100 HJpE 2 m]
RYZF LA (A =J90) kT T ¢ 100 4 H
RY2F L R)—T W T ¢ 100 2.1 m
HHRY—N T 4.8 m
s NN 1 2V
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3LX PP¢50 &, FHEUARER)

s X K O K

4 B bsikig B & wr
[##4]
RYZF L& ¢ 50 362 X 3 1086 | m
PP /LR $ 50 6 %X 3 18 &
EFE Y V5 K4ER | ¢ 100X ¢ 50 2 X 3 6 1
PPE Y V37K | ¢ 50X ¢25 I x 3 3 1
PPoy /KKy 7 ¢ 50 2 %X 3 6 1
PRIE T ¢ 50 108.6 - 27.6 81.0 m
[5%]
RYxF L% Hia% T ¢ 50 108.6 1086 | m
TR Grikkie
PPiEFT. ¢ 50 36 + 6 42 5]
EFE H
KK T ¢ 100X ¢ 50 6 6 & T
PP
S KRR T 650X ¢ 25 3 3 T
RV ZF LU E R ET ¢ 50 108.6 108.6 | m
FE) EHER)
LGy BESIAF M 108.6 X 1.22 132.06 | kg
PP/l A FE) EER)
AT $ 50 18.0 X 3.17 57.06 | ke
FRAKEE R (BEER)
AT T » 50X ¢ 25 3.0 X% 2.40 7.20 kg
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91

I~3TIX g B
HPE ¢ 100 ( L =5.00m/ A& )

)& & A H | Wl |74 | P U 2 9 E NI R0 | W G S

m A | m m A | m
4.50 1 1 0.50
3.70 | 1.00 1 2 0.30
1.80 | 1.10 | 1.00 1 3 1.10
4.00 | 0.90 1 2 0.10
2.50 | 0.90 | 0.90 | 0.70 1 3
1.90 | 1.40 | 1.20 1 3 0.50
4.40 1 1 0.60
4.60 1 1 0.40
2.40 | 1.50 | 1.00 1 3 0.10
4.70 1 1 0.30
1.30 | 0.70 | 1.00 | 2.00 1 3

11 23 3.90 7




Hkie B 5%

s X K O K

E ) Hirg E'g BT
[##4]
Gl
PEFRL O EFEEHRITF4 ¢ 100X ¢ 75 1
it FE A At

MR A 7y R A |
e

R A RREE | 450 X 350-200 e
AFRA

R AARREE | 450 X 350-200 e
BHERHA

HF A ARRE 450 X350-100 1
CH A

A ARRE 450 X350-100 e
2TT

i TEH AR 680X 200-40 1

770y R AT
PR 7V R | 6 75400 PN
[57%]
ERRE AT
kAR E T =S T

17




1T (A +IHKEHESE

81

) , . T © I N

& Wk F — LAY ek [me| mo o=
Sz oI T As, t=15cmPA T 67.0 78.0 5.6 150 [ m 150.60
SHAERREUE T | As, t=10ecmPA T 18.4 50.7 3.8 73 | m® 72.90
EHEI T e gL 20.0 33.5 3.6 57 | m® 57.10
HOHRELT RC-40 7.6 21.1 2.5 31| m® 31.20
HOERL L i m’
HHEREL L w 9.3 9| m’ 9.30
¥y wE 20.0 33.5 3.6 57 | m® 57.10
T T 20.0 33.5 3.6 57 | m® 57.10
FRILALER As 0.7 2.0 0.2 29| m’ 2.90
R 2 As 0.7 2.0 0.2 29| m 2.90
15 VEE - L5 T 0.06 0.07 0.01 0.1 m® 0.14
AT RC-40, t=16cm 18.4 50.7 3.8 73 | m® 72.90
RIE IR L BRI EEAS(13) t=3cm 18.4 50.7 3.8 73 | m® 72.90
Dav7)—pBh#E T | 350 X350 39.00 39.0 [ m
@2 —pB##E T | 350 X350 1.49 + 1.49 3.0 m




1 T.X + T ¥ & *

+Ta47 1-1 HIEHIE As HPE ¢ 100 DP=0.90m
+ TR L= 9.8 +21.7 +1.0 +1.0 = 33.5 m
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
S pNY _ % 3
T
: BRAET
i RC-40 3
|
i
i W [#EEINE]_0.550
a ! DI [@s&[ 0.125
= g ° HHIRH B5H — DP [ 4w [ 0.900
| RC-40 < H1 | #0vE| 1.125
i H2_ [dmile| 1085
IEBR ERRT—7 hl | HREM| 0.410
Z—t h | | 0.525
| o
i 3
i !
| 5| <
! 8
; —
\ @D
( 33.5 m H7=vEE)
4 Fr IR N NI A & "o K BN &
Al T As, t=15cmbA T 2.00 X 335 m 67.0
St g T As, t=10emEL T 0.55 X 335 m? 18.4
| OEl T Bk e L 0.55 X 1.085 X 33.5 m’ 20.0
DL T RC-40 055 X 0.410 X 33.5 m’ 7.6
HDREL T Wi -
M RELT b ( 055 X 0525 — 0125 2 X x,/4)X 335 |m’ 9.3
P Wi R
Py W+ 20.00 — + 09 m® 20.0
FESRALEL As 055 X 0.04 X 335 m’ 0.7
RIS As m* 0.7
TEURTEE - ALy T 0.023 X 0.04 X 67.0 m’ 0.06
% T RC-40, t=16cm 0.55 X 335 m? 18.4
AR EEAS(13)
REIRT t=3cm 0.55 X 335 m? 18.4
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1 TIX + T % & %
+Ta47° 2-1 MEHIE As HPE ¢ 100 DP=0.47m
+ It E = 39.0 = 39.0 m
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
s I | % 8
T
: BRAET
i RC-40 3
|
i A
i W [#EEINE] 1300
a ! D15 0.125
= 2| ° HHIRH B5H — DP [ 40| 0470
| RC-40 < H1 | #EHIZE| 0.700
i H2_ [dmiles] 0.660
IS BR hl  [HEREH4] 0510
Z—t h [ ® &
:1‘17')#%%%
- =7V —h#[0.35%0.35
l =
i
|
350 ®D
( 39.0 m H7=vEE)
4 Fr IR N NI A & H = BN &
Al T As, t=15cmbA T 2.00 X 39.0 m 78.0
Sl g T As, t=10emLL T 1.30 X 39.0 m? 50.7
W OE T Bk e 1.30 X 0.660 X 39.0 m’ 33.5
MM RLT RC-40 ( 1.30 X 0510 — 0.35 X 0.35 )X 39.0 |m® 21.1
HDREL T i -
M RELT b
bl Wi R
Py W+ 33.50 — + 09 m® 33.5
FESRALEL As 130 X 0.04 X 39.0 m’ 2.0
PRI As m’ 2.0
TEUREE - ALy T 0.023 X 0.04 X 78.0 m’ 0.07
T RC-40, t=16cm 1.30 X 39.0 m? 50.7
AR EEAS(13)
REIRT t=3cm .30 X 39.0 m? 50.7
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1 TIX + T % & %
+Ta47° 3-1 MEHIE As HPE ¢ 100 DP=0.65m
+ TR = 1.4 +1.4 = 2.8 m
W
BEE%As t=4cm EEl | BR REI8 BAEFHiAs t=3cm
g N | v 3
T
: AT
i RC-40 3
|
i A
5 W_[iE]_ 1350
a ! DI [%s&| 0.125
= 2| ° HHIRH B5H — DP [ 4| 0.650
| RC-40 < H1|3REI%E 0.980
i H2_ [dmile] 0.940
(RS hl |5 0.790
z—t W |
WY+ EE
i ~| g =7V —h#[0.35%0.35
i o| &3
|
T o
| . I =
‘ 350 ‘ ®D
550
( 2.8 m H7=v¥E)
4 Fr IR N NI A & H = HA &
EEEDIT T As, t=15ecmPL T 2.00 X 28 m 5.6
AR EBUE T As, t=10ecmBL F 1.35 X 28 me 3.8
| OE T Bk e L 1.35 X 0.940 X 2.8 m’ 3.6
M RLT RC-40 ( 1.35 X 0790 — 0.35 X 0.35 m’ 2.5
— 0.55 X 0.10 )X 2.8
HDRELT Wi -
HDEREL T 1%
R R L
By wE+ 3.60 — +~ 09 m’ 3.6
FESRALEL As 1.35 X 0.04 X 28 m’ 0.2
s As m’ 0.2
VBRI L5 T 0.023 X 0.04 X 5.6 m® 0.01
WA T RC-40, t=16cm 1.35 X 2.8 m? 3.8
AR EAsS(13)
IR T t=3cm 1.35 X 2.8 m? 3.8
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(e

2L (RE%) LIFEFHEE

+ T %17

4 FR B RSP E T = 3 T2 T 5 ] ARtcE B f %=
SR T As, t=15cmLA 1,119.0 4.4 2.0 144.6 9.2 8.4 8.4 1,300.0 | m 1,296.0
EREURIE T | As, t=10emBA F 307.7 1.2 0.6 39.8 3.9 3.6 6.3 363.0 | m® 363.1
P T W wbE - 333.9 1.2 0.5 55.1 6.6 7.1 5.2 410.0 | m® 409.6
HHFRL L RC-40 126.2 0.5 0.2 28.2 3.9 4.7 2.8 167.0 | m’ 166.5
HHRL T i Vac m’

HYRL L W 154.7 0.5 0.2 20.0 2.0 1.8 179.0 [ m® 179.2
s AYa) e+ 333.9 1.2 0.5 55.1 6.6 7.1 5.2 410.0 | m® 409.6
B T 333.9 1.2 0.5 55.1 6.6 7.1 5.2 410.0 | m* 409.6
FRBpALIR As 12.31 0.05 1.6 0.2 0.1 0.3 14.6 | m® 14.6
IR As 12.31 0.05 1.6 0.2 0.1 0.3 14.6 | m® 14.6
{5 JesE - a0y T 1.029 0.004 0.002 0.13 0.01 0.01 0.008 1.2 m’ 1.2
AT RC-40, t=16cm 307.7 1.2 0.6 39.8 3.9 3.6 6.3 363.0 | m* 363.1
{FIEIR T FBAEBRIEAS(13) t=3cm|  307.7 1.2 0.6 39.8 3.9 3.6 6.3 363.0 | m* 363.1
@av))—MpiaE 1| 520 X520 2.68 + 2.73 5.4 | m 5.4




€¢

|

T+ B R A E @RI

g2 2 il X ik
L=2.0m L=2.5m L=3.0m L=3.5m L=4.0m
X R £ |Ef 1E% 1E% 2E% 2% 2% 2E% 3E% I =
1.30 1.80 2.00 2.30 2.80 3.30 3.50
<H= | <HS <H= | <H= <H=  <H= <H=
1.80 2.00 2.30 2.80 3.30 3.50 3.80 5 =
W=0.85
1-5 m 46 46
W=0.85
1-6 m 4.20 4.20
& 4.60 4.20 8.80 8.80




2 T.IX + T % & %
+Ta47 1-1 HEHE As HPE ¢ 100 DP=0.90m
T TIERE L= 1754 +47.8  +240.1 +93.4 +2.8 = 559.5 m
W
BXE%As t=4cm EEl | BR IRIEIE BAFAAs t=3cm
g N\ _ P 8
T
| BRAET o
i RC-40 =
|
i
i W [#EHIE]0.550
a ! D1 [#s&| 0.125
= £ ° HHEH ERH - pP_ [ +#w [ 0.900
| RC-40 = H1[4REIZE| 1.125
i H2_ [ #milE| 1085
IEBR BERATRT—7 hl | HEM| 0.410
b h | # | 0525
| o
i 1
E’}‘ A
| 5| =
—
! S
; i, 4
\ D
( 559.5 m H7-DEE)
4 Fr SR N MR A § i = BNl K 2
SHLEGT T As, t=15cmEL T 2.00 X 559.5 m | 1,119.0
Sl g T As, t=10cmEL T 0.55 X 559.5 m?| 307.7
oM T Bk W+ 055 X 1.085 X 559.5 m’| 333.9
DL T RC-40 055 X 0.410 X 559.5 m’| 126.2
HDREL T WA+
M RELT b ( 055 X 0525 — 0.125 2 X =4 )X 5595 |m®| 154.7
R Rt
Ay W+ 333.90 — + 0.9 m’| 333.9
FESRALEL As 055 X 0.04 X 559.5 m’| 12.31
PRI B As m’| 12.31
{5 VRIE - /L5y T 0.023 X 0.04 X 1,119.0 m® 1.029
o T RC-40, t=16cm 0.55 X 559.5 m?| 307.7
AR EEAS(13)
RAEIRT t=3cm 0.55 X 559.5 m?| 307.7
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2 T.IX + T % & %
+Ta47 1-2 HEHIE As DCIP(GX) ¢ 100 DP=0.90m
+ TR L= 1.1 +1.1 = 2.2 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
S "\ _ % 3
T
: BRAET
i RC-40 3
|
i
i W [#EEINE]_0.550
a ! D1 [&s&| o0.118
= g ° HHIRH B5H — DP [ 4w [ 0.900
| RC-40 < H1 |3mEIZE| 1.018
i H2_ [dmile] 0.978
IEBR ERRT—7 hl | HREM| 0.410
vt h |® & o418
| o
‘\ S
i (
| 5| <
|
| o
!
\ @D
2.2 m H¥7v¥E)
4 Fr IR N NI A & H = BN &
SHLEEGT T As, t=15cmEL 200 X 2.2 m 4.4
AR EBUE T As, t=10ecmBL F 0.55 X 2.2 m? 1.2
| oEl T Bk e L 0.55 X 0.978 X 2.2 m’ 1.2
DL T RC-40 055 X 0410 X 2.2 m’ 0.5
HDREL T i -
M RELT b ( 055 X 0418 — 0.118 2 X x,/4)X 2.2 m® 0.5
P Vi R
By wE+ 1.20 — + 09 m® 1.2
FESRALEL As 055 X 004 X 22 m’ 0.05
FEH As m’ 0.05
TEUREE - ALy T 0.023 X 0.04 X 4.4 m’| 0.004
% T RC-40, t=16cm 055 X 22 m? 1.2
AR EAs(13)
IR T t=3cm 055 X 2.2 m? 1.2
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2 T.IX + T % & %
+Ta47° 1-3 MEHIE As SUS304 100A DP=0.90m
+ TR L= 0.5 +0.5 = 1.0 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
S N _ v 3
T
: BRAET
i RC-40 3
|
i
i W [#EEINE]_0.550
a ! D15 0.114
= g ° HHIRH B5H — DP [ 40| 0.900
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By wE+ 050 — 050 -+ 0.9 m® -0.1
FESRALER As 055 X 004 X 1.0 m’ 0.02
P As m’ 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=16cm 055 X 1.0 m? 0.6
AR EAsS(13)
IR T t=3cm 055 X 1.0 m? 0.6
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3 LI + T % & %
+TH47 | R HEHIE As PP ¢ 50 DP=0.90m
+ TR L= 0.5 +0.5 = 1.0 m
(B =)
W
BEE%As t=3cm EHI | BR REIE BAEFHIAs t=3cm
8 "\ _ 4 8
!
: BRAET -
i RC-40 =
|
i
5 W_[iE] 0550
a ! DI [&5+&| 0.060
= g ° HHIRH B5H — DP [ 40| 0.900
| RC-40 < H1|$REIZE| 0.960
i H2_ [3mile] 0.930
i hl  [#ER| 0.770
5 h |0
|
I
O 5
! (=)
i
RERE oD x 3%
( 1.0 m %7=v%aE)
4 Fr IR N NI A 7 H = BN &
SRAELIN T As, t=15cmPL T
AR EBUE T As, t=10cmPL T 055 X 1.0 m? 0.6
oM T b RYE ( 055 X 0930 — 0.060 2 X z/4%X3)X 1.0 m® 0.5
D REL T RC-40 055 X 0.770 X 1.0 m’ 0.4
HDOREL T Wi 1
M RELT b
P Wi R
FE ALy wE+ 050 — + 09 m® 0.5
FESRALER As 055 X 003 X 1.0 m’ 0.02
FEHA As m’ 0.02
15 IRTER - L5y T
% T RC-40, t=16cm 055 X 1.0 m? 0.6
AR EEAS(13)
IR T t=3cm 055 X 1.0 m? 0.6
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3 LI + T % & %
+Ta47° | {12 HEHIE As PP ¢ 50 DP=0.30m
+ It E = 3.5 +4.0 = 7.5 m
(IBERE)
W
BEE%As t=4om EHI | BR REI8 BAEFHiAs t=3cm
< N _ v 3
[
i A
i
i
i
i
5 W_[HiE] 0550
a ! D1 [&s+&| 0.060
= 2 = HIEH FAL _ DP_| 40 [ 0.300
i = H1 [ #miliE] 0.360
i 2 [dmile] 0.320
i hi  |HEH] 0.330
5 h |0
!
!
" )G IE
| (=)
1R
( 7.5 m H¥70HE)
4 Fr IR N NI A & H = HA &
EEEDIT T As, t=15ecmPL T 200 X 75 m 15.0
AR EBUE T As, t=10ecmBL F 055 X 7.5 me 4.1
| oEl T Bk e L 0.55 X 0.320 X 7.5 m’ 1.3
M RLT RC-40
M RELT i+ ( 055 X 0330 — 0.060 2 X /4X3)X 7.5 m® 1.3
HDREL T b
P Vi R
By WE L 130 — 130 <+ 0.9 m® ~0.1
FESRALEL As 055 X 004 X 7.5 m’ 0.2
FEH As m’ 0.2
VBRI L5 T 0.023 X 0.04 X 15.0 m’ 0.01
WA T RC-40, t=16cm 055 X 7.5 m? 4.1
AR EAs(13)
IR T t=3cm 055 X 7.5 m? 4.1
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3 LI + T % & %
+TH7 | REEL-2 HEHIE As PP ¢ 50 DP=0.30m
+ TR L= 3.5 +4.0 = 7.5 m
(B =)
W
BEE%As t=3cm EHI | BR REIE BAEFHIAs t=3cm
8 "\ _ 4 8
[
: BRAET -
i RC-40 =
|
i
5 W_[HiE] 0550
a ! D1 [&s+&| 0.060
= g ° HHIRH B5H - DP [ 4w [ 0.300
| RC-40 < H1|$REIZE| 0.360
i He_ [dmile] 0.330
i hi  |HEH] 0.170
5 h |0
|
I
O 5
! (=)
i
RERE oD x 3%
( 7.5 m H¥70HE)
4 Fr IR N NI A 7 H = HA &
SRAELINr T As, t=15cmbL T
AR EBUE T As, t=10ecmBL F 055 X 7.5 m? 4.1
oM T Bk RYE ( 055 X 0330 — 0.060 2 X 7/4X3)X 1.5 m® 1.3
DL T RC-40 055 X 0.170 X 7.5 m’ 0.7
HDREL T Wi -
M RELT b
P Vi R
By wE+ 1.30 — + 09 m® 1.3
FESRALEL As 055 X 003 X 75 m’ 0.1
FEH As m’ 0.1
15 IRTER - L5y T
% T RC-40, t=16cm 055 X 7.5 m? 4.1
A BRI FEAs(13)
IR T t=3cm 055 X 7.5 m? 4.1

46




